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A= US4 A BRI DNEEONF=
M USRI SESH (&Y - SAILLMNUX/RSALERRX)
=l ASFMDER= EEERSED
A2 .24 ZY . O(3) - NIRAY - BE S Ol &k e RS2
g et+=ZH| 9,000
OFXN=AEHO0IXN =01 9,000
308 AHAIEHMSOIE 600,000 600,000
183 S 2SS &HASAIE 600,000 600,000
EXNSXZULAANMESR 600,000
SHAFRANEF=2(Z20HE XA 6,303,440 6,833,700 535,260
308 XXM SOIA 6,303,440 6,838,700 1535, 260
07 X RS2 6,303,440 6,838,700 535,260
O3 =ZMAs9E8cRYs 1,350,000
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201 Let23| 64,000 84,000 £20,000
01 At2teltl 64,000 84,000 20,000
eS| 64,000
OS2EH M= 40,000
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01 AXEM A 2EE 105,000 108,000 23,000
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Xl 9,910,350
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OXNEENSENEZAML(NSSL) 11,733,448
X 9,910,350
< 1,823,098
MEdsHAESsY 5,537,491 2,635,000 2,902,491
SUHIEN=RAEREHS 280,000 350,000 70,000
308 XXM SOIA 280,000 350,000 70,000
18 SIS B XA AIE 280,000 350,000 70,000
O=UASEUHRXIERDIS4ER L3 280,000
SIILNEEEXES 5,137,491 2,205,000 2,932,491
308 XXM SOIA 192,000 105,000 87,000
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0 1>
2 W

S PNE= M EXNRXA
HY2AZHI(SXSXIA)(DIEH/DIE
Jl=dl
= _ d =
2. 2N BB O(B) - NIRAY - BAS Ofl ko e
IESINEEINE=PS; 4,200
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M & 0l & A E Ml A

M= JjEEFA S OlAEE R
= o200 Meldy
220 YAIRAILISL
& o4 JlEISY (Srol: &S
4R 2N -F-B--S o &b o Hi S0l At HimE=]
=5 Al 4,647,173,161 4,791,665,599 A144,492,438
JIEESN 4,647,173,161|  4,791,665,599 | 144,492,438
Ol atE et 1,710,950,000 1,766,000,000 55,050,000
200 A2l 25,050,000 16,000,000 9,050,000
220 SAIEANILI=L 25,050,000 16,000,000 9,050,000
224 J|EF 25,050,000 16,000,000 9,050,000
22407 121+ 25,050,000 16,000,000 9,050,000
XIS A 2| Z 25,050,000
300 XL DA 1,675,900,000 |  1,750,000,000| 74,100,000
310 XAl 1,675,900,000 1,750,000,000 274,100,000
311 XL REA| 1,675,900,000 |  1,750,000,000| 74,100,000
311-01 ESW=2A 1,675,900,000 1,750,000,000 74,100,000
PN PSERSE 1,675,900,000
700 B AQISULYEI12H 10,000,000 0 10,000,000
710 BHAYUS 10,000,000 0 10,000,000
711 20i3 10,000,000 0 10,000,000
71101 2HMAL0IS 10,000,000 0 10,000,000
ENAU0S 10,000,000
NEgE2 2,935,223, 161 3,023,415,599 A88,192,438
100 X1 Al 4 2,930,000,000|  3,018,000,000(  A88,000,000
110 XIEAI 2,930,000,000|  3,018,000,000(  A88,000,000
11 SN 2,490,000,000|  2,573,000,000(  A83,000,000
111-01 FSAl 800,000,000 840,000,000 40,000,000
CFSA 800,000,000
111-02 S=e15{Al 76,000,000 80,000,000(  A4,000,000
mESEEY 76,000,000
111-06 I Al 4,000,000 3,000,000 1,000,000
CIeil X Al 4,000,000
111-08 X241l 1,610,000,000 | 1,650,000,000 | /40,000,000
X122 HI A 1,119,200,000
mECRETE 490,800,000
112 S Al 430,000,000 435,000,000( 5,000,000
112-01 KIS X AL Al 160,000,000 155,000,000 5,000,000
XIS KHRAIE A 160,000,000
112-02 XL DS Al 270,000,000 280,000,000(  £10,000,000
XL DSA 270,000,000
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NERSIEES <IN SH: MEgg
100 KM
2110 XA
5 13 ALEES (cHel: &2
NESE VIRE-TE 18 B o & o A 0l e HimE=E]
113 NtE == 10,000,000 10,000,000 0
11301 AtE = 10,000,000 10,000,000 0
OXHE 22 10,000,000
200 Ml2l==g 2,907,000 3,007,000 A100,000
210 3R N2 7,000 7,000 0
213 ==Y 7,000 7,000 0
21301 SN =g 7,000 7,000 0
IESYNESSCl 7,000
220 SAIEANILI=L 2,900,000 3,000,000 100,000
224 J|Et==& 2,900,000 3,000,000 A100,000
22407 12| 2,900,000 3,000,000 A100,000
3n8 A 2,900,000
50 2x=2 2,316, 161 2,408,599 A92,438
510 | LEx3S 2,316,161 2,408,599 A92,438
511 SNEXZS 2,316,161 2,408,599 A92,438
511-01 2 NEXZ 2,316,161 2,408,599 292,438
[OHE FE X AMAIS 2GR 2,316,161
RS2 1,000,000 2,250,000 A 1,250,000
50 X3 1,000,000 2,250,000 A 1,250,000
510 FNEx3S 1,000,000 2,250,000 21,250,000
511 FNEXZS 1,000,000 2,250,000 21,250,000
511-02 NG9S LHELEIINELS 1,000,000 2,250,000 21,250,000
mOEPEPE 1,000,000
ONAHHEASHATAI L UL S 1,000,000
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(Er9): &)

Nz ol & o 8 A 2R Hees
24| 24| 24|
Jlalx=d s 1,007,811,035 844,586,449 | 83.80% 1,764,531 0.18%| 161,460,055 | 16.02%
)| =2 10,640,388 10,447,888 | 98.19% 192,500 1.81% 0 0.00%
OllatE 2t 550,770,288 548,344,748 | 99.56% 75,540 0.01% 2,350,000 0.43%
NEE 2 442,111,676 282,755,181 | 63.96% 246,440 | 0.06% | 159,110,055 35.9%
HEeSAgE2 2,566,820 2,481,560 | 96.68% 85,260 | 3.32% 0 0.00%
NE=2=R 1,721,863 557,072 | 32.35% 1,164,791 67.65% 0 0.00%
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Xl 140,000
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AR S LKA 4,351,553 3,729,940 621,613
Xl 140,000
& 4,211,553
ARHHASEH X R LR =X 227,803 258,190 230,387
203 SR =&IH| 7,803 8,190 A387
03 AIBF=A AR =KIH| 7,803 8,190 A387
(AXAM S EH AR FE 7,803
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13 2|2 SHIHEHE & X 2 ALY 220,000 0 220,000
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CES20E s s=s22 Y 650,000
HHANEZZSHSI|HCTEH A NS KI &AL 390,000 585,000 A195,000
308 AIXIHMSOIH 390,000 585,000 A195,000
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OXISICTOl = HIOl & AH K K& ALY 189,750
ISHUHESLTE(ZHEEXE) 150,000 90,000 60,000
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ICTESEMHE=ESLXE 16,552,400 15,087,815 1,464,585
= 2,587,000
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OEESsMas+Y 3,000
308 XXM SO0l 100,000 100,000
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01 AR A2 2 £ 300,000 300,000
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&l 67,884 67,180 704
201 L2 | 27,840 34,280 26,440
01 AtR2elt] 27,840 34,280 A6,440
2 Et==H| 8,400
OAREZAL=352 LI 8,400
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OIfTaHH LMo 3 SUSAR S S A =& 2,000
=gl 13,440
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202 Ot 37,044 29,900 7,144
01 =G4 LI 37,044 29,900 7,144
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OSAHHE 20,000
OSHDIERAAYEE 22,000
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01 AtR2teldl 9,000 14,000 25,000
028 =4 9,000
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02 S22l 303,100 233,100 70,000
O3323ZHA 303,100
OOLOIHIOIESMSMEIA O E = 3,100
OOIOICIOIEHZ2 2R EMBIAOEZ 300,000
207 HA1IHEHI 1,230,000 800,000 430,000
01 A= A| 130,000 100,000 30,000
ENE V=t = 80,000

- 100 -




=

HIEFH A

A2

- 101 -

o S 318 81818 818 e NININ|KRIS el ite 38
=] A0 m 8|S R 3|3 BNB|B|R|2 » | R
1 Ko 19
SINE
=)
S 818 81818 818 818 ele(e|e|e il il
S S| SlS|a Sk S|S
_| g g8 SIRIN SIS SHES
LH3T
<l
RIS
S S8 8 813818 8 88818 88 8 3|88 8 38388 3I¥ININIIIR S 83888 8 38|98 ¥(8|8 8
S S S glgle S Slglg|le &S o glgle g o|gs o |flFININ e T R B 6B I IININNISIS S
88 gE|lglg § F|E|NE YT RIEIR & SRR |§IB|B|B|E|€ 9 ¥ ~ == - TI5|s 5|77 7
A
<
=
o
70
<+
™ 3
TA
L o mm OF
< |« = T Ho -
| ol I = D
T |= = = =z K =< |
D T I oD o olg 5
- I~ ™ ™M oF M0 0 8D oF K= ol
= |m DTy mr A ok RIEOR o RO +
SR O N e == KF T ior oo | oD O U =
= |ak Ho Mo T © It OF N0 ™3 ERT T RO D o o n =l
F |l ® X|ml|p o Wl 3l W0 B RUX )| 00| duw o K —| K
ol 0fr s |5 © M|z D A W W|is|z W3 ok i+ no ol =) ok
)| o |5 8 O|W|S o O|lm|s|z 2 o |5z & T||s DD S|z T MK Rl ulo Sl |a
R | w1 o S|=| W Slg|a|n @S~ HDwm|ar © S|z |2 30|/ 00 00 KD K ~ 5 KI|RI|B0 16
sl | RO |O = T S|l W O|s|w|m M T x| © T|o|m o2 op |/ S O 0 D ok M < S K-k [oB S
o= - |2 33 3S|xr|r @ d|Tm|a|or B A S K| |e AR |~ HO|D if0F 2 X AW R R|Z|F 0o |x o
~O| X [T RS S|K|H R als|alf< o O T Dia|a 0 [|xF 5| |[slaf< 8 O O M OB O|s (i 8d|an|it 2
s | . = & s Sl & 80| || Y &
S Mo 0|~
&l o L
0 01




Of & AFHESH & Al A

ANl =

[l
[
oF
ol

HHIEHH A 10t
ADIEA=S
to1et

o
= .

Al

=

XY XH -

(=
ol -

el

e

KI0

Hlw

A3,563,198

389,452

176,433

30,000

30,000
30,000

6,033
6,033
6,033

23,000
29,000

1,000

210,000

6,000
6,000

HEE
Off &Hod

18,530,398

10,118,406

470,758

25,000
24,000
24,000

1,000
1,000

186,158

186,158

186,158

39,000
25,000

7,000

18,000

14,000
14,000

91,000
91,000
91,000

Off &toH

14,967,200

289,407
3,782,000
10,895,793

10,507,858

fir

Xl

289,407
10,218,451

rr

A

647,191

55,000
24,000
24,000
14,000
10,000

4,000
10,000
10,000

1,000
1,000
1,000
30,000
30,000
30,000

192,191

192,191

192,191

192,191

192,191

36,000

16,000

8,000
5,000
5,000
3,000
3,000
8,000
8,000
20,000
20,000
20,000
91,000
91,000
91,000

CRA . ERI(B) - HIRAR - BAS

o}
=

a

of

H0

01 Ar2telsl

[SHI

Kk
<J

I

405 Xt

30
0H
Mo
Mo

HIAl

ok
Mo
o
Mo
Ho

o

[
OF)

01 ArR2teltl

-

3+
o
[
oF
10y
H
R0
ar

el

U]

SHAL

03

or:

=
=)

dl

uJ
K

b

308 Xt

0
H
Rl
RO
110y
I
R0
ar

)

EPEEAE

=
=

HAZS SO0+

or:

=
>

X

+

uJ
K

308 Xt

- 102 -



od
i’
OF
uJ

A=
X ZH -
(e R I
£

S(8|8 B188(8 8188 S 818 S8 B8 [8 B38[8 S8
SIS NSiS|S SlS|S S S|S S © @ |0 —l2|2 S|S
o | |g|g|E g8 |g|glg % gls g8 |FIF|F  |B|F]F B[S
Klo = - < < <<
E
)
21818 81818 21818 S e e © Lol [l (o) 8388 818
o|lo|g ®lSe]|S S|SB 0 NN —|=(2 S|S
bodll Nl el N [e0] Y9} [ D D
wa | IEIBI® |BIB|BIE (2|85 = k|%|& Z2|NN |88
Wik © . o o
RIS
SI8I8[8 8IR|8I818 (88|18 8 8888383888888 88888 8IRIRIR RISI8I8 8|18]|8
Slelele Sle|g|e|e glg|glm m & e m S S 8§ o mmS S n|gIe g g glssls  SI99]|S S(5|8
— O[O MO A O IO O F — M M — = [} (o> Ne) N Ne)] (@)}
SIRIRIR R|2|8|8|8 €|8|8|B B B SE8E8 3887|8888 8|8 88 8|8 88 888
Ir N~ o == — =
<
S
o
) i
. B
0 [l
3l ulo I = il )
= ~ al o0 Ki 5 <l T R
i3 o t =) <+ sl < 8 OF
z - - to =) RJ =t G
. U o o 5 Uo ol o N
= K = al g o &0 El of W =4 r B =
= [ R o) 80 <k R A H W H " = g AL
o |1 K & < = ok H <4 M R0 i 20 oK 0 R
x 12| K{ W 5 M50 = O < <0 ol _ ol Rl @l RE - |30 g0 ) R K =]
5 |2z H ghi ur ™| oy » ™I ~ o W o L ~ Top |’ i) ™~ R’ i) 3 urr
S| |R|3 B0 IH|_|® D=0 _ o= B _3 =MD i Slzlc o W S|z | _|®
- |2 H|s|=x < Sz nl|zlz 2t I D<Apg kU XIJ|Ig|z 035wz 0 |zfl|ls =|o|H
RE|H0 o) W@ |=|ur|om O = (80| O 80 T oU 00 = & < 3o M0 OF i WO (w8 RO mn WO (= |&=|ub &= |oW|&= (U0 =5 |UI |Of
RO M0 iz == W m|or|"|ak < |op|od|f SE RO &0 < 2 0 B oy O w0 20 H|ZF|o0 ® = K|pj|dw|f & |z0|d|& 5% ok
- R mE S k=22 #= |20k 3R K < 80 < @ R0 HOM R RO DR RN R ([R[A T[D]F
HW%m_m_imo.ém_xﬂﬂmDTmaMm__OOOODIOmO%zDOOOO@@m@mgﬂzomaMﬂzomﬂﬂ
D KN = 0|0 |Yv|= 3l | == N N~ | — N Il e el e ) ® 0| =
.T mmu..o ﬂ_u:umo .__A.omo (@) mo o C._% Ulm mv..o
0 = |70 L4 = ol

- 103 -



A=
X ZH -
(e R I

[
i’
OF
uJ

=l

167,000
212,000
90,000
90,000
89,000
89,000

889,000

A901,000

11,800
5,000
90,000
90,000
180,000
180,000

400,000
400,000

3,512,800
2,842,800
2,826,000

MU
0l &y

30,000
30,000
30,000

80,000
50,000
10,000
5,000
3,000
2,000
1,800
1,800
889,000
14,000
5,000
5,000
90,000
90,000
60,000
30,000
270,000
18,000
30,000
30,000
30,000
25,000
25,000

3,679,800

2,830,800
33,000

221,000
130,000

120,000

489,000
489,000

889,000
260,000
270,000
270,000

1,925,000

900,800

1,925,000
1,618,000

Ofl &F28

o
[l

2|

=72

=

=

oY
AlAgy

=

Al
s
ALOML) A B I X

A= S

A
(=]

- SR(EA) - MIRAY - BYS
H
HIAl
X0l &
ors

b

E
Pl

JIKt

X

dl
[SHI
P
<|

+
+

- Hu

LIAIZ A0t
F

OMIHA & It
OUEAIEZHOAIAR LA

O2-Letd G2 MAI AN

Ce-Ltet
01 AF22t2ltl
01 A&l
01 Xt
01 XroHd

09

401 Al HIZL S 0HYI

403 Xt
405 Xt

o

SEREY

N387

8,190

5,000
5,000

7,803

- 104 -

01 AtS2t2ltl




[
i’
OF
uJ

-
= .

Al
=2
S
=l

N
NEEEIEEE glg [glg [°]°]g g[gls 3 g[=]°
R R e g b 0= i | S S s|8|s © S g8
O ¥ o] s|o - 3 SHES]
I a S @ =) =) N S
Ko ” 219 1417 T S g © e
E <
D
S| 218188 218 S8 e
ot el e el Rt I 318 (8|18 |B|8 g1818 3 21818 318
WIET S8 |8|3 8|8 g8 =1k slsls m o3]S 8|8
e = = 4 GG NE
RIS "
S8 88181818 8 8 8188
MMMWWMMMMMAAMWMMMMMMWmmmmmmmmmmmmwmmmmwwmw
d|g o 8 Y¥s|s slg2|g 8 S e e e B s 2e e glalsle S SIS S
=7 = 222@@@%@%%%11 @Yo %%%%m%%mwmm
Mu —
S
o
or
0
m._ 0
3D o omlm
< a1 - =
o 0 m =
s R EER = - "
= _ a3 5| |= N 2 o/ o uo
- i oE| @ e =8 28
— 5 - < T
= o e x ME 00 | 7o o & e A0 00 Em %
ol 5 o W 5 = 3 RS =0 Mo o <k O T
o s L B T I = o ln L B I o R0
< _x <0 | o M A M =
Y| ok I+ %_ M_ Al_ ] | o) D._ ur = o 5| 0 R0 Ml %0 m}. w_.ﬁ_u K o
3 . = _ ol <[ |T < W D& S|l= S & = ! Y
= |Z|2 5|2 Sz 2 alRlEunlslh allslss 2Eslss0%0 25 ol MREE
R x_x_ulomm_%agoae_ﬂ___oz___ﬁe___m_mﬁmmﬁmoHmuo_ODT+Uol_ iz ns| X0
mo%_KTR%Eozm_#maq_m_moﬂm__:immmm.__%Mﬁ%ﬁ%ﬂﬁﬂ%o_xﬂ (|5 W&o
o = K =0 | = 3 = == B el [ - [ELEE ol o L||_mH_ =y — |l
Hg;M@AI_MD_mﬂ@wEm%mJmWM_M___OT&m_@e%M@DTM_EEEQWM R e e N L
SSHEIE = [0 Z1E Ao A Ol T 3 < |3 |0k 3 OROIA R D
r |zls U|2|=|z]s O O L= <o)< B8 O OOk O OE S|al|< & O|al|al R
g8 s|s gle Ulgls Ulnlzls U |w|s|s U 0 i S (o= & Dle]el &
: W | o | ) S H&|° MHIK|° I o sz D sy H
i I | RO 0 =) A N s
i o R D R0
R

- 105 -



OIEHH

Q-

Al

- 106 -

j ©|wo|o ol|lo|o QJ o o QJ QJ
] g 8|8 SIEIE |BIB|B 2 g R
e lroEE T PER - g
51 Ko ql<l<
= H#
E=)
S 218 RBlB|B 8188 28188 S g g & &
. |& o2 qlalg |N|8|I§ |[F|F|F 4 ¥ ¥ 3 3
LHET
<l
RIS
S 8 813818 8 8 88|58 &|38I38I8 8138188 8 3828882283 3RLIZIISISIII
S S Sl3|S S S ST IIRIRIE R|IgS|@ S 9IS R RK[B S I8 @5 &K SIS d|ln g RN
N~ AW A IS0l Tl S|l © Ol M NS NN NS & — ™M — — | O W© vl e
= TI88 S S TInIg|R 8|22 2|RIRIR R RIZRE R ERREE
3
<
S
o o
or
70
m._ 5} um
0 3
¢ 0 RO
< 3r M
I+ = B0 =
=z o ol = X0
. Al W = = |® =
~ ok = W | o |R I
= o I T i | RD T
iof e I VA T = :Dw@xﬁ oﬁm I =
= |¢ R D Koo R (K N K = I N
m.l.m H U oy oW ey W|T] |H @ 2lm K
3 R B|s|2 M S S|a|s | Bl for sl 0 _ R I
o l= W oW fuo|mo O W wA [ |uo |0 O |y = Tl T 1| - T <
R =3 S|zl S M UHlylzlg 2|lw|r| 8| |s|g 0ol 30 o 00 W
re<4 | RO [® ™ W |g0(d) @ ROORO (g |g|g) R | (R0 DU b A SR oH RUNRY
s| - |2 o olg|s 0w Flolz|r Molae Rlelo|t 2 =< zJ o 30 RO
<FoR | = |20 RRIR|K R R O =5 |K|R R g |al|a) O|glal|< o O ofl <z WO
war ok |z HHigls HE Helels Hio|s|y Higsls P |w 5 5 -
so| . 8 o |8 =4k M| & if 8
IR0 R0 O Kfo %0
rior |
1l R0 &)




od
i’
OF
uJ

E

=
A0t
B2 A

Q-
= .

Al
=
X ZH -
o=
= b

8 S8 8 s 5 1] ] s|1°|<e|< 88|18 <
S SRS o S » © © S S|3a|S
I T X X X 8 8|88
ki0 < < <
E|
E=)
© 8188 8 Q Q 3 3 2818818 g18|° 1S
SRS i © e o o S|S|S|S S|S S
=17 g g & 218|188 |¥|F &
LH3r
<l
RIS
mwmwwmmmmwwm&W%&W%&&&W%mmmmmwwmwmmmmmwwmmm
S S L BoISs & mn S S| e m T o ST T olgnng o mBooIs|S glglgls & & g 9§
N NN - i 85588552888 88|88 88 RN
3l
<
=
o o oW o oW i
or
0
=)
. ulo
[ mr_
< -
I+ Ho - ulo a0 = 3l
= H ol 50 <F o8 =< ol
. <4 ok <+ ol 3 = oH rt
= n R =< <0 =< mﬁ = )
= AR <0 0 OF Rr iof uk
oy & &0 a0 L = [ H l
F - =z = = | Al Ki o1 L) K| ™ 70 _
5 o 5 G440 AR ~ I O IR EEAE o=
ol B _ BB S | o 0 31 RO = o o= _ =
2 n o lo|lZ T R R | RK|F 5 -, A3 = ol KH Z ~n|p|D|d o H 5 ok
& |2 o KE |30 |/ OO0 Ar AT D0 A | 80 o 00 pd 20 RI FlrR|20 A|<F|B0 | W0 R0 F0 M0
R | <0 Al o H o< |y O ETRR ) s o iof | [Ro KO |io |ob | <k o) op A
N [ % |2 |0 D) RO RO B0 RO g ] oF 80 RO R A3 oo | |2 [ Wi |30k 2R A
zr |~ =Zlol|=< ol O O W Olko all = 0B O o) ol KO =|mlar|as B pf|al|=< ot O [ HO
o sz U 0= = 5z U S 5 U oSy Holsis 5 g U
5 H|N ol ¢ ™ |8 ® o) [N
L) X0 i o (R =

- 107 -



A= HEtHADE = 2AM 0 HESH
B ANEASPH(LHDDHY/AVHET)
thel: dEESIE (EEEE))
AT 2A B B(E) - HRAE - BES O] ot e HlnE2
OMNIFEESHIAABH XA 20,000
405 RHeHESHI 10,000 10,000
01 ML =ZFSHI 10,000 10,000
(DI ESHESA AP Y 10,000
ACIEAIEIQIZ IR S (W& &/UED | bt) 4,349,3%2 8,310,692 23,961,300
Xl 3,782,000
& 567,392
AQLEAIEISEZRI 4,349,392 8,310,692 A3,9%1,300
Xl 3,782,000
= 567,392
AOtEAIEISEE2HEZ2IRA 239,392 246,692 AT7,300
201 L2 | 239,392 246,692 AT7,300
01 ArR2eltl 6,000 6,000 0
O gk=2H| 6,000
O=SeESHSHNRS 6,000
02 32gH| 233,392 240,692 AT7,300
O=s3=a4HA 233,392
OANIEAIEISESHSHESHAIEZ 233,392
ADIEAIEIH R EY 40,000 40,000
207 HAOHEH| 40,000 40,000
01 A1 =] 40,000 40,000
JAOIEAEIHARE S| 40,000
ADEZAIINML HHIA TS 283,000 324,000 36,000
403 XREXIEHHIS K201 & 288,000 324,000 36,000
01 XEXISHHI =22 & 283,000 324,000 A36,000
OACIESAIHE I MEIATRS 283,000
ADIEL XN ZE S L&A 3,782,000 1,200,000 2,582,000
Xl 3,782,000
403 XHXISHIS K201 & 3,782,000 1,200,000 2,582,000
Xl 3,782,000
01 RIXISH A= E X 3,782,000 1,200,000 2,582,000
OADIEL N B2 L EA(XISEHI) 3,782,000
Xl 3,782,000
HY2AIH(FHE2SAII) (OIEHIIE 109,950 101,300 8,650
JlE23&H| 109,950 101,300 8,650
JiE2&l 109,950 101,300 8,650
201 et | 39,000 39,000 0
01 AFR22lt] 39,000 39,000 0
Jget=2H| 12,000
OANRESLESSFLLI 8,000
OLEEMSFYI 4,000
=] 24,000
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Al & ol & A 8 Al A

A= FRere= SN BB
o200 MISISY
B 220 YAIEMISIY
3 22 UXEHEEE (5 &)
NERE LEE-RE-2% TR off & o rSIELVPNED HimE=ET
L 76,433,714 89,286,348 | 12,852,634
SR 76,433,714 89,086,348 |  ~12,852,63
ZHE =S 24,204,043 27,560,713 3,356,670
200 IS4l 134,400 210,000 75,600
220 AR NI 134,400 210,000 AT75,600
222 RXISHHIL LS 134,400 210,000 A75,600
222-01 KX BRI ES 134,400 210,000 75,600
OS54 QUL HSTH X 134,400
50 23 24,069,643 27,350,713 3,281,070
510 2DREZS 24,069,643 27,350,713| 23,281,070
511 RNLEE3S 24,069,643 27,350,713| 3,281,070
511-01 202x3 7,580,000 1,019,900 6.560. 100
e SN Y=o HAIME A Y 7,530,000
BTV E-E R 50,000
511-02 IR HUNSHSI N2 XS 16,489,643 26,330,813  £9,841,170
EWNEPNER 16,489,643
OXH AR EH AR HE X RAIY 8,998,000
OXIHFEH AU A (A 2) 1,219,020
ONFEHHEATI2I AR () 6,272,623
DI KIRD 7.59,912 10,401,250 | 2,805,338
200 NI2I4l 1,000,000 1,000,000 0
220 QAIZ AR 1,000,000 1,000,000 0
222 RXSHALLS 1,000,000 1,000,000 0
222-01 RIXISHHIIS LS 1,000,000 1,000,000 0
DASEEMHEDIZHATSAZRES 1,000,000
50 2X3 6.59,912 9,401,250 |  £2,805,338
510 2 DEE3S 6.59,912 9,401,250 |  £2,805,338
511 2DEE3S 6.59,912 9,401,250 |  £2,805,33
51102 XS BHLHSHI N ZES 6,595,912 3,600,000 2,995,912
DX XSHH (NSEH) 4,800,000
O EXIAI A ME A S 1,500,000
SEFONNNERISES 3,300,000
OXIS X2 HS 179,912
OB ASTFANAZOF AL T2 KR A 1,595,776
OSAJIHCIXILI 2 0FE H 2 K2l X & ALY 200,136
K2 T 21 4 It 12,877,109 24,68,215 11,756,106
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A £ 0l & AFHS & Al A

ol A o AN HH2ZBHI M2
T4t -4l
301,621,594 288,752,667 | 95.73% 1,443,927 | 0.48%| 11,425,000
54,697,815 54,423,283 [ 99.50% 274,532 0.50% 0
52,585,521 45,807,419 | 87.11% 78,102 0.15% 6,700,000
47,975,466 47,706,551 | 99.44% 93,915 0.20% 175,000
32,467,766 27,846,870 [ 85.77% 70,896 | 0.22% 4,550,000
29,127,348 29,061,670 99.77% 65,678 0.23% 0
67,976,018 67,905,122 [ 99.90% 70,8%6 0.10% 0
16,791,660 16,001,752 | 95.30% 789,908 | 4.70% 0
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o ENeE=

2. 24 - ZB . O9(3) - HRAY - BYS ol ko e HimE=T
O2d=Y 5,000
Os2gdtelfdaE3a=Y 5,000
DN TS DN b PP =R el 2,562,800 3,379,200 A816,400
308 KXISHMSO0IH 2,562,800 3,379,200 A816,400
13 SISO tEHE & H &AL 2,562,800 3,379,200 A816,400
OF=MEZNASALXI2IAG (F 2,300,000
OSAIISUHE S S MR 262,800
XS LRl SSHE XIS 527,000 527,000 0
308 AEXISHMSOIH 527,000 527,000
13 S 2SI HeHE & E &AL 527,000 527,000
OZ=L e SEHEHIA 527,000
FHAX2HHE LA 450,000 400,000 50,000
308 KXIHMSO0IH 450,000 400,000 50,000
01 AXIEHBLAEES 450,000 400,000 50,000
OF SN 2HHE S SIALS 450,000
ASMSHI el KIJ 850,000 1,000,000 A 150,000
308 AtXISHMSO0IH 850,000 1,000,000 A 150,000
13 I 2S0EHE & EPEAEY 850,000 1,000,000 A 150,000
OASASEHL R KA 850,000
X - A A eI E SR JAY 13,843,077 15,826,200 21,983,123
Xl 8,998,000
= 4,845,077
307 QI2H01 A 13,843,077 15,826,200 21,983,123
Xl 8,998,000
= 4,845,077
02 QIR &AL E = 13,843,077 15,826,200 A~ 1,983,123
OXS G ES U ZHE XA (X
=) 13,843,077
Xl 8,998,000
& 4,845,077
ANEF=cgdEdx el (AlT) 1,219,020 2,131,386 A912,366
N 1,219,020
308 AXIHMSOI& 1,219,020 2,131,386 N912,366
Xl 1,219,020
01 AXSHBAEES 1,219,020 2,131,386 2912,366
OXSE =S 3E AR AL (Al2) (X
) 1,219,020
Xl 1,219,020
ANA=EEHHEAAT2(Z) 13,193,577 21,916,040 28,722,463
Xl 6,272,623
& 6,920,954
307 QI2Hol M 13,193,577 21,916,040 AB,722,463
Xl 6,272,623
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